Arithmetic Sequences and Series

A sequence Is arithmetic iIf we add the same
amount each time to get a new term.

This amount, d, 1s called the common
difference

37,1,1614,... —2 d='



Ex. FInd the first 4 terms of the arithmetic

Sequence.

a)a, =(4h + 3
a=1(N)+3=7
a,="(») +3=1

b)a_7@n

0,3—,'1(3)4'3:‘5

Q‘l"; L’(L‘]+} = l?
a, =7-5(3)=-8
o -7-5(4) =-13

d=Y
7011514,

d=-
, -2 -8& 13
=7



To find the n term of an arithmetic
seguence, we use the formula

a =a, +d(n-1)

where a, Is the first term and d Is the
common difference

Ex. Find the n" term of the arithmetic

sequence: (g, 9, ¢ 8 11, 14,..
q =2 +3(h">J
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EX. The fourth term of an arithmetic sequence
is 20 and the 13" term is 65. Find the n®

term. s
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EX. Find a4 of the arithmetic sequence that

starts with 2 and 9.
\_;.7/9



To find the sum of a finite arithmetic

seguence with n terms, we use the formula

S, = g(a1 +a )
EX. Find the sum of the first 10 odd numbers.
'/ 3/ 6/ 7/ 7/ ”/ ,3/'§ {7/ I7

q = .%(\Jr m)s 5(20) =100



Ex. Find the 150% partial sum of the
arithmetic sequence: 5, 16, 27, 38, 49,...

A, - 5+H(h’|) - d =l

Ferm —F Qgy = S+Il(l50">:l(g\‘f"/

5> G- 150(5 + [Gq'f) 2123675

Sunn



100

Ex. Find the sum ) 7n: 7(s1) s (s2)+7(s3) %, +7(100)
n=51 \4_7/’

=7

S:: —S/,Z‘<7‘5l + 7'!00> -2 06425



EX. In a golf tournament, 16 golfers win cash prizes. First
place gets $1000, second place gets $950, third place
gets $900, and so on. What is the total amount of prize
money?

< (000 ’Sﬂ(h-')

. 1000 -50(161) = 250

+(fm —7 Olig

¢ 0) =10 000
s —2 S L& l (looo+zs ) =1



